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NEW QUESTION 1
Which transport layer protocol is used to form LDP sessions?

A. UDP
B. SCTP
C.TCP
D. RDP

Answer: C

NEW QUESTION 2
Refer to the exhibit.

Which interface configuration must be configured on the spoke A router to enable a dynamic DMVPN tunnel with the spoke B router?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 3

Which command displays the IP routing table information that is associated with VRF-Lite?
A. show ip vrf

B. show ip route vrf

C. show run vrf

D. show ip protocols vrf

Answer: B

NEW QUESTION 4

Refer to the exhibit.

An administrator noticed that after a change was made on R1, the timestamps on the system logs did not match the clock. What is the reason for this error?
A. An authentication error with the NTP server results in an incorrect timestamp.

B. The keyword localtime is not defined on the timestamp service command.

C. The NTP server is in a different time zone.

D. The system clock is set incorrectly to summer-time hours.

Answer: D

NEW QUESTION 5

Which configuration adds an IPv4 interface to an OSPFv3 process in OSPFv3 address family configuration?
A. router ospfv3 laddress-family ipv4

B. Router(config-router)#ospfv3 1 ipv4 area O

C. Router(config-if)y#ospfv3 1 ipv4 area 0

D. router ospfv3 laddress-family ipv4 unicast

Answer: B

NEW QUESTION 6

Refer to the exhibit.

During troubleshooting it was discovered that the device is not reachable using a secure web browser. What is needed to fix the problem?
A. permit tcp port 443

B. permit udp port 465

C. permit tcp port 465

D. permit tcp port 22

Answer: A

NEW QUESTION 7
Refer to the exhibit.
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An engineer is trying to connect to a device with SSH but cannot connect. The engineer connects by using the console and finds the displayed output when
troubleshooting. Which command must be used in configuration mode to enable SSH on the device?

A. no ip ssh disable

B. ip ssh enable

C. ip ssh version 2

D. crypto key generate rsa
Answer: D

NEW QUESTION 8

Refer to the exhibit.

The output of the trace route from R5 shows a loop in the network. Which configuration prevents this loop?
A)

B)
C)

D)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 9

Refer to the exhibit.

What does the imp-null tag represent in the MPLS VPN cloud?
A. Pop the label

B. Impose the label

C. Include the EXP bit
D. Exclude the EXP bit
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Answer: C

NEW QUESTION 10
Refer to the exhibit.

Users in the branch network of 2001:db8:0:4::/64 report that they cannot access the Internet. Which command is issued in IPv6 router EIGRP 100 configuration
mode to solve this issue?

A. Issue the eigrp stub command on R1.

B. Issue the no eigrp stub command on R1.
C. Issue the eigrp stub command on R2.

D. Issue the no eigrp stub command on R2.
Answer: A

NEW QUESTION 10
Drag and drop the MPLS VPN concepts from the left onto the correct descriptions on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 12

Which method changes the forwarding decision that a router makes without first changing the routing table or influencing the IP data plane?

A. nonbroadcast multiaccess
B. packet switching

C. policy-based routing

D. forwarding information base

Answer: C

NEW QUESTION 13
Refer to the exhibit.

An engineer is trying to generate a summary route in OSPF for network 10.0.0.0/8, but the summary route does not show up in the routing table. Why is the

summary route missing?

A. The summary-address command is used only for summarizing prefixes between areas.

B. The summary route is visible only in the OSPF database, not in the routing table.

C. There is no route for a subnet inside 10.0.0.0/8, so the summary route is not generated.

D. The summary route is not visible on this router, but it is visible on other OSPF routers in the same area.

Answer: A

NEW QUESTION 17
Refer to the exhibits.

Phase-3 tunnels cannot be established between spoke-to-spoke in DMVPN. Which two commands are missing? (Choose two.)

A. The ip nhrp redirect command is missing on the spoke routers.
B. The ip nhrp shortcut command is missing on the spoke routers.
C. The ip nhrp redirect command is missing on the hub router.

D. The ip nhrp shortcut command is missing on the hub router.

E. The ip nhrp map command is missing on the hub router.

Answer: BC
NEW QUESTION 22
Refer to the exhibit.

Why is user authentication being rejected?

A. The TACACS+ server expects “user”, but the NT client sends “domain/user”.
B. The TACACS+ server refuses the user because the user is set up for CHAP.

C. The TACACS+ server is down, and the user is in the local database.
D. The TACACS+ server is down, and the user is not in the local database.

Answer: D

NEW QUESTION 27
Which statement about IPv6 ND inspection is true?

A. It learns and secures bindings for stateless autoconfiguration addresses in Layer 3 neighbor tables.
B. It learns and secures bindings for stateless autoconfiguration addresses in Layer 2 neighbor tables.
C. It learns and secures bindings for stateful autoconfiguration addresses in Layer 3 neighbor tables.
D. It learns and secures bindings for stateful autoconfiguration addresses in Layer 2 neighbor tables.

Answer: B

NEW QUESTION 31
Refer to the exhibit.

Which control plane policy limits BGP traffic that is destined to the CPU to 1 Mbps and ignores BGP traffic that is sent at higher rate?

A. policy-map SHAPE_BGP
B. policy-map LIMIT_BGP
C. policy-map POLICE_BGP
D. policy-map COPP

Answer: D

NEW QUESTION 32
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